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2a) 
Association has no ownership while aggregation has ownership. Association can be 2 way relationship (a line) or 1 way relationship (an arrow) while aggregation can only be 1 way relationship (full diamond). Association is more focus to activity.
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Making a class as a member of another class (object aggregation), we must declare the class as object pointer with the class name as data type in private member. However, this object pointer can only point to the function of its own class and cannot access to private member of the another class. Methods in another class can access to methods of the class by using object pointer point to the function of its own class.
Making a class as a friend of another class, we must add the word “friend” while declaring the class in the method of another class. This meant that all methods in the class can be accessed to private members of another class. However, the all methods in another class cannot accessed to private members of the class. 
